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on any part of the Question paper cum answer booklet except in the space
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2. This question paper cum answer booklet consists of Five Sections of A, B, C,
D and E. Each Section carries 20 Marks.

3. Candidates have to write either Telugu Or Hindi from Section B and they

should not write both Hindi and Telugu. Candidates choosing ‘Telugu’ as
their second language should attempt Question 3 and Question 4 of Section B
in Telugu only. Those who wants to answer second language other than
‘Telugu’ should attempt Hindi questions namely Question 3 and Question 4
under Section B.

4. You have to write answers only in the space provided against each question.
Separate answer sheets will not be supplied. Question paper cum answer
booklet should be returned to the invigilator after the examination.

5. Use blue or black ink pen only.
Any rough work should be done in the space provided at the end of the question paper
booklet.
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SECTION A — GENERAL ENGLISH
(20 marks)

1. Read the following passage and answer the questions given below : (5 x 2 =10)

India is a country of villages. About 70 percent of its population lives in
villages. Despite large scale industrialisation and a large number of
development programmes, the face of rural India has remained almost
unchanged. Although there are certain development schemes for the rural
areas but their benefits have been cornered by the rural rich. The Integrated
Rural Development Programme launched by government in 1978-79 is claimed
to be designed for a better deal for the rural poor.

(a) Where do the majority of population live in India?

(b) Expand IRDP.

(¢c) When was the IRDP launched?

(d) Why was IRDP designed?



(e) Do you think that rural people are rich?

2.  Translate the following passage into Telugu : (10)

Shakespeare compares the world to a stage. All men and women are actors.
They play their parts. They come and go in turn. Each part is an act in the
drama of human life. The human drama consists of seven acts. They are the
childhood, the school-boy, the lover, the soldier, the judge, the comic figure and
lastly the old man. Birth is the entrance and death is the exist of this human

drama.
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SECTION B

Attempt either TELUGU or HINDI : (20 marks)
TELUGU

Bo8 ISR BT D90k, R (8o A (9B IRTCEERrey [FPA0s
(bx2=10)
DIILEOE  IrGoeer, DCEr0D @R PPTRE $0NBON HoFBIEE oo I9
BROWE). DY 550S5%D g0 9AIIE. Z@)“’gb&ﬁgm §%),805°¢0. &IH0HT°E egen
559 S8, Bomcid. BASOEOD dED IYton Eomges SewEoS” Bgeod Sodn
&) B 000 1oed8 36)?3&&&) R 8D I3 @0 Koo
2RY 88) VoG I, TErRroS” &80 AYOTER. [BR00MT HIHITE doBL0
200 @Oy, DEFVG DT OIS B IGGUERY DOBI RO, DTS Ke00erR)
DRg  DARPBor [V ela ?52)05 D). IBLEIE §:6°1c§oe5‘s D03BED.
BOGOSTADLIE. 300D TeoHd oFp DV giAzren EPRR0e))  BenBI0TED.
IRV B HITORD M0 3‘(0;)0053 &% QBIBS 305008 @?6.)011)"’25.)38)@353"6&).

(1) 2IIEOE HASoEe B2

() @SSEgEE ardy D862

(€ 2IIBLEIE DT (HTE0 BB°?

(d)  20IDEEE Q eSS EDTReL [@RRE?
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(e)

PO JHPBOHIW :

(a) Desen, APEHD05) B

DDIDELEIE DR VTV [T°ReCh?

(5x2=10)

D05 a)o@oéaoczoééoé&é’).

(1)  Jg%o (2) B

(3) ©eSen (4) Boroen
(b) d=mo er0e38.

(1) @) %

(3) & (4) es%%0
() 588 B

(1) Kore &3B (2) oo &B

(3)  Zx & 4 oy &3
d) &8 DB Ercsesd TUHETCES.

1) Beo 2) &oc

(3) W 4) ¥
() WIBgoren & $02080933.

(1) Joeogdn (2) g0

(3) S (4) SoRso
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HINDI

et fod T ufehal ol UGt I o1 wHTa forfed | (5 x 2 =10)

o fmfor it et ht TRgeheTl i FEd 2| ATE] o AT TR ol ARfag Fad 7| hell
% 31 3T 2| ATk AleTd hell, T AN hell ? ATeq hedl H AfeTd el 3R ITAN hed1-a i
1 20 § | 3T <1 H HGL, TS, g1 311G aTeg il ohi Gral a0l 2|

(a) O] el FTR?

(b) aTEE A 27

(c) el o foheaH ST R?

(d) o her U ford ST ot flror 27

(e) 31U QT T ST el oh T IATEAT =7
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(e)
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(1) =al (2) =l
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T B A it Il
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SECTION C — GENERAL KNOWLEDGE
(20 marks)
(1) INDIAN POLITY — (10 marks)

Answer the following questions in the given space : (b x2=10)

&3 (308 9%)0% 98300 Qe)mesﬁ 220D [FTPO50R

(a) Governor.

ASTR

(b) Gram Sabha.
[ASSRAS

(c) Fundamental Rights.
(PENE F°E)e0.
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(d) Political Corruption.
023805 99DS.

(e) Election Commission.

AQE® doo0.

(ii) CURRENT AFFAIRS — (10 marks)

6. Answer the following questions in the space given :

&0 (808 (3505 988005 F0R0S” axranen FPofosw

(a) Environmental Pollution.

53015266583 S°en?’.>§o.
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(b)

(c)

(d)

Terrorism.

&|{°d0.

Need for primary education.

[FPEE Dy e35BES.

Information Right Act.
QTG T8y, weg0.

11
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(e) SHGs (Self Help Groups).
OFO300 JIPAHE yomren.

SECTION D — GENERAL APTITUDE
(20 marks)

(1) REASONING — (10 marks)
7.  Select the correct answers for the following : (5 x2=10)

&2 (508 7708 BB DHTeErRRen KHBowodw

(a) Find out the word which is different from the others

&8 (308 T3S DPRDOD BI°ea0 KHBOWIH0

(1) Mango (2) Papaya
S B 2y00
(3) Apple (4) Almond
oSS 2T

(b) Find out the word, which is different from the others
5 808 TBS° DI IB?

(1) Fish (2) Crocodile
D9 09

(3) Shark (4) Goat
X0); A
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(d)

(e)

Find the missing number in the sequence

8 (308 (52005° S°209D @080 800K

10, 25, 55, 115
(1) 240 (2) 300
(3) 235 (4) 250

The Fourth term in the given sequence is

&5 (808 (5500S° 4 D 5050 KBoBH0

ACB, BDC, CED
(1) DFE (2) BBA
(3) DAB (4) AFD

Find out the next number in the sequence

&8 9030 E00S° HEIB @080 (8000

9, 16, 25
(1) 50 (2 49
(3 36 (4) 64
(i1)) NUMERICAL ABILITY — (10 marks)
8.  Select the correct answer for the following : (5x2=10)

&2 (508 7708 BN DHT°EERHN KBowoHw

(a)

A price of 4 oranges is equal to the price of 2 apple. How many number
of oranges he can purchase if he has 8 apples?

T EETSONO S8 BOK) ASTDS FEOK HATCHIN. D 05D

S0P Qfo& Eoerseaen :s@;oao?

(1 16 (2 18
3 19 4 17

13 (BET - 11)



(b) A father is 60 years old. His daughter is 30 years old. Find out the ratio
between their ages

2§ oG HOHJAY B0 DodEToen. eBD KDITB HAPKY 30 HodBTe.
T8 SO D¢y DS HoB?
(1) 3:2 @ 3:1

3 2:1 (4) 4:3

(¢) A cow is brought for Rs. 5,000 and sold for Rs. 7,500. Find the gain

percentage

28 ) e, 5,000 & 87, &, 7,500 5 ea?)oébo. 0B PIBPHI0N

KR89
(1) 50% 2) 45%
(3) 60% 4)  35%

(d) A farm has 400 cows. If the percentage of black cows is 20%. What is the
number of white cows.
28 F7S” 400 eHev suyow. TES” 20% Do eDHed WROND By een.
B9 SYO éogp?S DOB?

(1) 300 (2) 320
(3) 280 (4) 350

(e) A boy purchased 20 Pencils 30 pens with a total cost of Rs. 400. If the cost
of Pencil is Rs. 5 each. What is the cost of each Pen?

28 @reod 20 R, 30 Sodwen &, 400 H ST, a8 den P8R

8°. 5 @008, i) §°X) a5 0o 985 JoB?

(1) Rs.8 (2) Rs.12
8. 8 8. 12
(3) Rs. 10 (4) Rs. 15
8. 10 8. 15
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Select the correct answer for the following :

SECTION E — SCIENCE

(20 marks)

(1) PHYSICAL SCIENCE — (10 marks)

(10 x 1 = 10)

&2 (508 7708 B8N DNRTCEERNR KBowWoHw

(a)

(b)

(©)

(d)

Bell metal is an alloy of

KoedoS' 00 S (808 763 Qo[EL0H0

(1)

3)

Copper + Tin (2)
o°R + HKED0

Copper + Silver (4)
o°R + Do&

Copper + Zinc
o°R + QOB
Copper + Lead

R + DB

At what temperature does water attain maximum density?
D SIS DG DL BIRE Fo|E5H EOR &0e0H?

(1)
3)

The components which are mainly responsible for distruction of Ozon

are

0°C (2
4°C 4)

2°C
10°C

8800 28R0 DB BRI ITTTOS” 300e5e3B

(1)

3)

CFC 2
%: &® @:5 S"(‘S?)S‘\)

CH4 4)
RS

The colour of copper sulphate is
5298 38365 D BorHS* 0608

(1)

3)

Blue #))
deo
Green 4)
&Bé);’);ﬁl)

15

DDT
&.G.e3.

NOX
e E &) PeS’en

Red

B0
Yellow
DY) béa
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(e) Telephone was invented by

BV EORTHB IHE?

(1) A. Graham Bell (2) Thomas Alva Edison
. KroBS P00 e I

(3) Madam Curie (4) Robert Hook
D K6 oo2f 08

()  Dry ice is the solidified form of
oG 00 S8 1308 E00HT°8 0DEID0DD 982‘9

(1) Carbon dioxide (2) Hydrogen peroxide
SENG eHHE TE s PoF)e

(3) Sodium Peroxide (4) Water vapour
O30 :.gcf’g)c% Ded 328

(g) If there were no atmosphere the sky would appear
TTHBE0 BEIOES, 357800 &8 oS’ E)008

(1) Red (2) Blue
e deorr

(3) Black (4) White
zégm @gm

(h) Identify the ore of aluminium

©RIEAIDON0 ©POD PR KHBoWHN

(1) Galena (2) Cinnabar
RO D%erd

(3) Pyrites (4) Bauxite
205 %S
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10. Choose the correct answer for the following :

The gas which is abundant in atmosphere is

TTHE0S” DT LgEHGEg M50 B2

(1) Nitrogen (2)
RN

(3) Carbondioxide (4)
S0 & 8HE

Oxygen

es8yasn
Sulphurdioxide
dnb & 56

Identify the element which is not radio active

&4 1808 T3S BEBI® 05§ U0 HuTes°RY) 800N

(1) Radon 2)
oG

(3) Thorium 4)
&5%8a%o

Sodium

G aHo

Uranium

a50B8QaA00

(1) NATURAL SCIENCE — (10 marks)

(10 x 1 = 10)

&2 (508 7708 B8N DNTPEERRR KoBowoHw

(a)

(b)

Manufacture of cheese is based on which activity?

20Y) BOSIBS® DIBINK 56 J|BADH

(1) Bacterial 2)
w§8053e§

(3) Fungal 4)
SoKS

What is the fastest growing plant?

& DAZ0M IBR 300, AB?

(1) Casurina (2)
d8g Dey

(3) Bamboo (4)
DO

17

Algal
305
a)
Viral
285

Eucalyptes
oﬁr"é@ég%
Palm tree
T3 Dey
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(¢) What causes ‘Malaria’ fever?

S0BBOST 23580 Do D08?

(1) Mosquito (2) Water
&0 D Hed v

(3) Food (4) Vegetables
83880 Jod Er8MmaN® O

(d) The waste from blood in human beings is purified by
200 8K 20dTRY B0 BB IB?

(1) Kidney (2) Heart
Qo doco ro0%

(3) Laver (4) Lungs
58a00 &3228

(e) The white cottony structure often appearing on moist bread is a

BG 5 D& BYMP SrBSB AT g

(1) Fungus (2) Algae
HoKD es8

(3) Virus (4) Bacterium
62 erg§Bok0

(f)  Which of the following described as a pachyderm?
003D DD Ko 280BOID RDH0OE?

(1) Horse (2) Elephant
K80 DK

(3)  Crocodile (4) Goat
20009 8
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(g) Mitochondria is also called as

5°PPO|GASTOR &8 DB ET°G® ©9063°5)

(1) Power Houses of the cell (2) Lysosome

8o 575 oPeD BRE
(3) Cristae (4) Chromosome
Lgé E%RrE°S

(h) The chief controlling organ of the Human Body
S0DAD DADOB0D FBY gt B2

(1) Brain (2) Lungs
DO e8I
(3) Heart (4) Kidney
Ro0G DT BJoTER

(1) Bats find their way during night time by

Keyoren or@ueods S5 JIEa ego° SowBow AenfEran

(1) Perception (2) Wings
WI*D0e 3E);e0

(3) Smell (4) Echo-Location
T°RR (DDELD

(§) Tearing teeth are

DD Heyy SEYT K800
(1) Incisors (2) Premolars

S00ESWY SOTPOL DY 0T I
(3) Molars (4) Canines

Someen §%54Y)
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ROUGH WORK
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